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. Answer either in English or in Assamese.

1. Choose the correct option of the following :
' 1x8=8

e o[t As Teq qife Sfenext ¢

(i) What is the primary advantage of the
‘Brick and Click’ Model ?

R Wi B wifse el R &
(@) No need for physical space

(b) Offer flexibility to customers in
terms of shopping mode
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AN R '

(c) Completely online
Hpefel SeTiEA
(d) No digital presence needed

oo SofEfes armea g

(i) Which of the following is not typically
a step in strategic planning process ?

AfERe (FRE AYRATS FHiETe ARIEN
iR GO AT 52

(a) Environmental scanning
AR CFRL

(b) Formulation of strategy
(FEAR QIR

(c) Execution of employee

performance reviews
(d) Strategy implementation

@M ITAAN
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(i) In the communication process, who is
responsible for decoding the message ?

caecals afFare ISn Rree €k nifig

T G ?

(a) Sender

| (AP

(b) Medium
RIS

(c) Receiver
RIS

(d) ' Feedback channel
ARAFITI (BT

(iv) A self-confident leader whose
personality and action influence people
to behave in certain ways is called

G SRR (7ol TX IfET W AT
JgEAS WS Sibed SR Yol FF (06T
OeTS GRS (N 4393 (ol JfeT Sy T 2 2
(a) Participative leader

SR (Tl

(b) Charismatic leader

Arafze gfegs @
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(c) Autocratic leader

GIBZa] (Tol

(d) Permissive leader

SNONES (Tl

(v) Which of the following is not within
the formal process of communication ?

- [Ee (@01 RER SRl iR fooes
A ?
(a) Encoding
AL
(b) -Interpreting
- e el
(c) Decoding
ACECOTA
(d) Feedback
AT NS

(vi) The plan to achieve overall
organisational goals is called

FR5IONT ANAF 7] TG] IS I AR
fFesre (@ER [ e e
(a) Strate.gic plan

g el
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(b) Tactical plan

(FTETS ASHAl
' (c) Operational plan
IEFIT AR
(d) Standing plan
SR AR

(vii) Motivation is a stimulation of mind

under the management function of

TR @F BT Semds B Roare
(PIRCO! ARG T TGS ?

(a) Directing

o i

(b) Organising
RGN I
(c) Controlling
fRger =

(d) Co-ordinating
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(viii) Organisation where expert assistance
is provided to the line managers are

N, 6 (AT AfpETT AFEce Reiaes

(a) Line organisation
[SIEC P

(b) Functional organisation
ferargs s

(c) ‘Line and staff’ organisation
RS oiF T AR |

(d) Project organisation

ATH FWIOA

2. Write short answers on the followiﬁg : (any
six) . | 2x6=12
frere RErmme esivs 55 Oe’ o’ 3 (it
201
(ij Why do companies prefer for

franchising ? '

@R ‘FeiRfeR’ 1 IeH @
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(1) Write briefly two techniques commonly

used 1n the decision making process.

g azd afEare J9E IRT @[ z‘ﬁremﬁ“l
Hrweel o |

(iii) Briefly state the relationship between
planning and controlling in

management.

WWWM@WW
TCF A [

(iv) List three essential trait of an effective

leader. .
AT FHF] (@O’ folbr wsifRgd @fe
SifteIeE 34|

(v) Write the main features of Theory X.

wg X-3 q @R o

(vi) Mention the problem of dual

accountability in matrix organisation.

ffw Foloms s (MY MEIaOR TP
S T4 -
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(vii) List out at least two areas where
managerial control is considered
necessary.

AR Fagd SR IfE S FUorEs
75! (FER G 1|

(viii) Creativity in decision making.

e szre FEaieTol |

(ix) What is virtual organisation ?
Siafbaa Aot F2
(x) What is work from home ?

. 959 o} 1 Wi 2

3. .Answer any four of the following :5x4=20

Reare frwican bif<big Tl &l ¢

(i) Explain the concept of strategic

planning.
FEe ARTHNIE i9ell GG A |

(ii) Define ‘bounded rationality’ énd its role
in decision making.
FRw gheam’s e vl o s 420
2R SR I |
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(iii) What are the three core elements of
delegation of authority ?

ol AN fofb! o1 GoAmi 62

(iv) Discuss the factors that can affect an
individual’s motivation in the
workplace.

AT GG G SIS A (oA 2/
IRF (20 RAT SNAGA 41|

(v) Explain the steps in decision making.
IS 212¢ IS SFETHA DRI ATCFATIR
I <4 |

(vi) What is the laissez-faire or free-rein
leadership style ? In what type of teams
or setting would this leadership style
be most effective ?

‘Laissez-faire’ (799 (el [$? (T 4399 7e
QAR @3 (o9 & KIS I T2
(vii) Explain Matrix organisation structure.

Matrix FR5FE MoMHCG 1y F11 |

(viii) Why is informal organisation no less
important than formal organisation ?

SIS 7201 57 SRS Ao T

aFgsf e 1 7z
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4. Answer any two of the following :
10x2=20

frare Rigeitat 7519 ©ea & ¢

(i) Discuss in detail the difference between
micro, meso and macro environment

in business.

JPARR FE, (5 SNF J2L ARTR Aers 23
ALY IZER SO 1 |

(i) Elaborate on the four pillars of corporate
social responsibility. (Economic, legal,

ethical and philantrophic obligation)

oo e nigaeR 5907 6 wEs [
RifoeIr Y T4 | (TLATSS, Wiz, o
IE WA W)

(1) Discuss the role of IT and social media
in communication 1in business

organisation. -

NI ALIo® ©2 A& E AGF NG
QAN cFae & il e GiR oo
Ao 4 |
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(iv) What are the some potential failure
reasons and success factors for
business process re-engineering ?

WMW-W%WWW-
TG T AT GoAmie & T2

(v) Evaluate the importance of work-life
balance in today’s corporate
environment.

IO FAEE AR TH-G I IR
ST TERA 37 |
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